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EEEEEEE X &k B TE K AEEXHAPEIRE X NFHH] ; ( )1. Lucy likes the green dinosaur.
FHHHE . - v Y > ( )2. The orange dinosaur is 3. 5 metres tall.
EE;;;E;;; g H{Eﬁm % ( )3. The green dinosaur is taller than the orange one.
---------- B 8] - 60 44 S48 100 43 ( )4. The yellow dinosaur 1s taller than Lucy.

— o — - . i = 5 7 it + T4 ( )5. Lucy 1s 1. 65 metres.
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I A. heavier B. bigger C.longer D. thinner E. taller

% T A1 8B4 (30 ) (K5 ik P i)

— WRE,ERHREAWEIWER, (54) | TR NG RE W GAMEUUMNUSE ke 0 B8 S8 G4 K4 UK Gk KR S
e ( )1. A. bigger B. stronger C. smaller
(2 Al B. dinosaur C. heavy 1' L_}k 2- - @6 % % @ % W@E
ﬁ ( )3. A. kilograms B. metres C. become .
i ( ot o B. his (s ( )1. The elephant is than the mouse.
( )5. A. longer B. thinner C. shorter , i b A than the boy.
— WRE, A THEL SRATABRR(V)EOOER. G2 ¢ )3 Thewatermelonis s the sy
( )4. The father is than his son.
g ( )S. The train is than the bus.
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( )1. Ann’s feet are bigger than
@ ¢ ) ¢ ) C ) C ) ¢ ) g i e
ZRREEHEFRENAFHEE. 105 ()2 —How tall is Chen Jie? —
( )1. A.I'm 1. 65 metres. B. He's 1. 60 metres. C. She’s 1. 58 metres. A. He is 12 years old. B.I’'m 1,47 metres. C. She is 1, 50 metres.
( )3. A. It’s 4 tons. B. It’s 4 metres. C. It’s 4 years old. A. tall B aalles . sallest
( )4. A. I wear size 38. B. I wear my T-shirt. C.I wear my dress. ( 7. are you? —I'm six.
( )5. A. I'm 12 years old. B. I'm 50 kilograms. C.I'm 1. 60 metres. A. How B. How old C. How tall
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( )5. You're taller your brother. 5. RS ek S A AR (B fth SR ERAH

A. than B. and C. more Mr Li is than Mr Zhang,but he is than him.
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[Lucy: Those shoes in the shop are nice! 1. Dad: Which monkey do you like?

Cathy: What size are your shoes,Lucy? Ben:I like the yvellow one. It is taller than the brown one.
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LLucy:Size 6. Dad: Which monkey is stronger?

Cathy:Size 67 2. Ben: The yellow monkey is taller. The brown monkey is stronger.

: . Dad:.I like the little monkey. It's yvounger. Its tail 1s about 38 centimetres long.
Lucy:In China I wear size 37 shoes. 4 e - 0w

Ben:I think the littl key is only 40 centimetres tall.
Cathy:Oh! 3. My shoes are size 38. = = A D R

Dad:I think the yellow monkey is 150 centimetres tall.
[Lucy:Really? You look shorter than me. -
UE

Ben: It is shorter than me.

Cathy:But I think I'm heavier than you. 4. | 1B
Dad: The monkey is shorter but you are funnier. | =
LLucy:I'm 45 kilograms. P o 1K
(—)RIEXTTE N #b2 T AR5, | %
Cathy:S. I'm 47 kilograms. , _ . | A
( )1. The yellow monkey is than the brown one. |
fA Y-:jur i:ev:?t- z;r;: :’:%T:I"J.F-,lliEI'T tTl;aI;"mri;vie.T II ( )2. The brown monkey is than the yellow one. 1B
::.:- B_ YES;}TGU are thiﬂﬂﬂl’. 1:. ( )3. ThE llttle maney iE D‘n]y tﬂ]l. — :LE
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! C. That’s so small. i ( )4. The little monkey is than Ben. JEI
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% D. How heavy are you? J+r (ORISR N 2, Al ] 7 1IE (TR (F) 2
i T T T— T, I ( )S. The yellow monkey is shorter than Ben. ;
e e g e g e e e e e e e e e e e e ey ( )6' The little manEy 15 150 CentlmEtrES tall' j;
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NRBTERE, 2 TIAF, (109 ( )7. Ben 1s funnier than the yellow monkey.
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You are and than me. + S, (159 o>
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Lily is LLucy. 5 8] 1)
3. FR A B AR B BN
My feet are than
4. fth Ho At B ) RF B RE
He 1s and than his brother.
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